2022 Street Construction Project B (#8147901)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 03/29/2022 10:30 AM CDT

| | | | | | | | | | | | James Peters | son Sons, Inc |
|----|--|---|-------|-------|------------|-------------|------------|-------------|-------------|-------------|--------------|---------------|
| | | | | | Haas S | ons, Inc. | A-1 Exca | vating Inc. | Switlick | & Sons Inc. | Utility | Division |
| | Item Code | Item Description | UofM | Qty | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
| | Part I - 4th Ave from Bridge Street to Knox Street | | | | | | | | | | | |
| 1 | 1001.0100.S | 2" Polystyrene Insulation | Sq Ft | 640 | \$1.50 | \$960.00 | \$2.00 | \$1,280.00 | \$2.00 | \$1,280.00 | \$3.00 | \$1,920.00 |
| 2 | 201.0120.S | Clearing | id | 1270 | \$14.00 | \$17,780.00 | \$20.00 | \$25,400.00 | \$20.00 | \$25,400.00 | \$38.06 | \$48,336.20 |
| 3 | 201.0220.S | Grubbing | id | 1328 | \$20.00 | \$26,560.00 | \$20.00 | \$26,560.00 | \$20.00 | \$26,560.00 | \$29.51 | \$39,189.28 |
| 4 | 204.0150 | Removing Curb & Gutter | Ln Ft | 1200 | \$2.00 | \$2,400.00 | \$2.50 | \$3,000.00 | \$2.00 | \$2,400.00 | \$1.00 | \$1,200.00 |
| 5 | 204.0155.S | Removing Concrete Sidewalk | Sq Yd | 2950 | \$5.50 | \$16,225.00 | \$6.70 | \$19,765.00 | \$7.00 | \$20,650.00 | \$3.63 | \$10,708.50 |
| 6 | 204.0210.S | Removing Manholes | Ea | 26 | \$300.00 | \$7,800.00 | \$500.00 | \$13,000.00 | \$300.00 | \$7,800.00 | \$500.00 | \$13,000.00 |
| 7 | 204.0220 | Removing Inlets | Ea | 15 | \$200.00 | \$3,000.00 | \$400.00 | \$6,000.00 | \$300.00 | \$4,500.00 | \$400.00 | \$6,000.00 |
| 8 | 204.0245.S | Removing Storm Sewer | Ln Ft | 2200 | \$15.00 | \$33,000.00 | \$20.00 | \$44,000.00 | \$10.00 | \$22,000.00 | \$2.00 | \$4,400.00 |
| 9 | 204.0500.S | Removing Sanitary Sewer | Ln Ft | 2550 | \$1.00 | \$2,550.00 | \$15.00 | \$38,250.00 | \$10.00 | \$25,500.00 | \$2.00 | \$5,100.00 |
| 10 | 204.0600.S | Removing Watermain | Ln Ft | 2525 | \$10.00 | \$25,250.00 | \$7.80 | \$19,695.00 | \$10.00 | \$25,250.00 | \$2.00 | \$5,050.00 |
| 11 | 204.0700.S | Removing Hydrants | Ea | 1 | \$800.00 | \$800.00 | \$800.00 | \$800.00 | \$300.00 | \$300.00 | \$750.00 | \$750.00 |
| 12 | 205.0100 | Excavation Common | Cu Yd | 4195 | \$12.00 | \$50,340.00 | \$14.00 | \$58,730.00 | \$15.00 | \$62,925.00 | \$24.18 | \$101,435.10 |
| 13 | 205.1500.S | Excavation Below Subgrade | Cu Yd | 550 | \$12.00 | \$6,600.00 | \$10.00 | \$5,500.00 | \$28.00 | \$15,400.00 | \$14.50 | \$7,975.00 |
| 14 | 209.0100.S | Granular Backfill | Cu Yd | 50 | \$18.32 | \$916.00 | \$20.00 | \$1,000.00 | \$20.00 | \$1,000.00 | \$18.23 | \$911.50 |
| 15 | 305.0125.S | Base Aggregate Dense 1 1/4" | Cu Yd | 2245 | \$22.16 | \$49,749.20 | \$32.00 | \$71,840.00 | \$26.00 | \$58,370.00 | \$41.91 | \$94,087.95 |
| 16 | 311.0200.S | Breaker Run with Fines | Cu Yd | 500 | \$24.70 | \$12,350.00 | \$32.00 | \$16,000.00 | \$26.00 | \$13,000.00 | \$34.56 | \$17,280.00 |
| 17 | 455.0605 | Tack Coat | Gal | 357 | \$5.05 | \$1,802.85 | \$4.20 | \$1,499.40 | \$8.00 | \$2,856.00 | \$4.04 | \$1,442.28 |
| 18 | 460.5224.S | HMA Pavement 4 LT 58-28 S | Ton | 710 | \$78.05 | \$55,415.50 | \$95.00 | \$67,450.00 | \$94.50 | \$67,095.00 | \$91.49 | \$64,957.90 |
| 19 | 460.5225.S | HMA Pavement 5 LT 58-28 S | Ton | 710 | \$80.40 | \$57,084.00 | \$95.00 | \$67,450.00 | \$94.50 | \$67,095.00 | \$91.49 | \$64,957.90 |
| 20 | 460.6223.S | HMA Pavement 3 MT 58-28 S | Ton | 90 | \$79.79 | \$7,181.10 | \$137.00 | \$12,330.00 | \$134.50 | \$12,105.00 | \$132.72 | \$11,944.80 |
| 21 | 460.6224.S | HMA Pavement 4 MT 58-28 S | Ton | 130 | \$79.79 | \$10,372.70 | \$126.00 | \$16,380.00 | \$123.50 | \$16,055.00 | \$121.66 | \$15,815.80 |
| 22 | 465.0120 | Asphaltic Surface Driveways | Ton | 5 | \$151.50 | \$757.50 | \$208.00 | \$1,040.00 | \$202.00 | \$1,010.00 | \$201.97 | \$1,009.85 |
| 23 | 520.8000 | Concrete Collars for Pipe | Ea | 15 | \$600.00 | \$9,000.00 | \$800.00 | \$12,000.00 | \$500.00 | \$7,500.00 | \$579.00 | \$8,685.00 |
| 24 | 601.0411 | Concrete Curb & Gutter 30" Type D | Ln Ft | 4250 | \$12.75 | \$54,187.50 | \$15.40 | \$65,450.00 | \$13.00 | \$55,250.00 | \$14.66 | \$62,305.00 |
| 25 | 602.0405.S | Concrete Sidewalk 4" | Sq Ft | 16400 | \$4.50 | \$73,800.00 | \$5.90 | \$96,760.00 | \$5.00 | \$82,000.00 | \$5.41 | \$88,724.00 |
| 26 | 602.0415.S | Concrete Sidewalk 6" | Sq Ft | 11950 | \$5.50 | \$65,725.00 | \$6.90 | \$82,455.00 | \$6.00 | \$71,700.00 | \$6.36 | \$76,002.00 |
| 27 | 602.0515 | Curb Ramp Detectable Warning Field Natural Patina | Sq Ft | 384 | \$40.00 | \$15,360.00 | \$58.00 | \$22,272.00 | \$40.00 | \$15,360.00 | \$55.00 | \$21,120.00 |
| 28 | 608.0412 | Storm Sewer Pipe Reinforced Concrete Class IV 12" | Ln Ft | 800 | \$49.75 | \$39,800.00 | \$59.00 | \$47,200.00 | \$50.00 | \$40,000.00 | \$73.33 | \$58,664.00 |
| 29 | 608.0415 | Storm Sewer Pipe Reinforced Concrete Class IV 15" | Ln Ft | 940 | \$53.75 | \$50,525.00 | \$58.00 | \$54,520.00 | \$54.00 | \$50,760.00 | \$54.23 | \$50,976.20 |
| 30 | 608.0418 | Storm Sewer Pipe Reinforced Concrete Class IV 18" | Ln Ft | 210 | \$60.25 | \$12,652.50 | \$67.00 | \$14,070.00 | \$60.00 | \$12,600.00 | \$60.99 | \$12,807.90 |
| 31 | 608.0418 | Storm Sewer Pipe Reinforced Concrete Class IV 21" | Ln Ft | 235 | \$71.50 | \$16,802.50 | \$81.00 | \$19,035.00 | \$75.00 | \$17,625.00 | \$75.63 | \$17,773.05 |
| 32 | 608.0436 | Storm Sewer Pipe Reinforced Concrete Class IV 36" | Ln Ft | 15 | \$210.00 | \$3,150.00 | \$181.00 | \$2,715.00 | \$210.00 | \$3,150.00 | \$187.93 | \$2,818.95 |
| 33 | 608.0460 | Storm Sewer Pipe Reinforced Concrete Class IV 60" | Ln Ft | 25 | \$375.00 | \$9,375.00 | \$461.00 | \$11,525.00 | \$400.00 | \$10,000.00 | \$359.53 | \$8,988.25 |
| 34 | 611.0420.S | Reconstructing Manholes (Storm and Sanitary) | Ea | 1 | \$1,500.00 | \$1,500.00 | \$2,500.00 | \$2,500.00 | \$15,000.00 | \$15,000.00 | \$2,764.20 | \$2,764.20 |
| 35 | 611.0535.S | Manhole Covers Type J-Special (Storm & Sanitary) | Ea | 19 | \$1,100.00 | \$20,900.00 | \$905.00 | \$17,195.00 | \$800.00 | \$15,200.00 | \$1,109.30 | \$21,076.70 |
| 36 | 611.0624 | Inlet Covers Type H | Ea | 23 | \$1,125.00 | \$25,875.00 | \$940.00 | \$21,620.00 | \$800.00 | \$18,400.00 | \$1,099.73 | \$25,293.79 |
| 37 | 611.0700.S | Inlet Cover Neenah R-3290-A Type C | Ea | 1 | \$1,300.00 | \$1,300.00 | \$1,150.00 | \$1,150.00 | \$800.00 | \$800.00 | \$1,461.60 | \$1,461.60 |
| 38 | 611.1230 | Catch Basin 2x3-Ft | Ea | 23 | \$1,800.00 | \$41,400.00 | \$2,150.00 | \$49,450.00 | \$2,300.00 | \$52,900.00 | \$1,703.57 | \$39,182.11 |
| 39 | 611.2004 | Manholes 4-Ft Diameter | Ea | 8 | \$2,850.00 | \$22,800.00 | \$2,750.00 | \$22,000.00 | \$2,800.00 | \$22,400.00 | \$2,507.07 | \$20,056.56 |
| 40 | 611.2006 | Manholes 6-Ft Diameter | Ea | 2 | \$6,000.00 | \$12,000.00 | \$6,400.00 | \$12,800.00 | \$4,500.00 | \$9,000.00 | \$6,223.11 | \$12,446.22 |

| | | | | | Haas S | Sons, Inc. | A-1 Excavating Inc. | | Switlick & Sons Inc. | | | James Peterson Sons, Inc Utility Division | |
|--|--------------|-------------------------------------|-------|-------------|-------------------|----------------|---------------------|----------------|----------------------|----------------|--------------|--|--|
| | Item Code | Item Description | UofM | Qty | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | |
| 41 | 611.2007.S?? | Manholes 8-Ft Diameter Reduced | Ea | 1 | \$33,500.00 | \$33,500.00 | \$29,500.00 | \$29,500.00 | \$11,000.00 | \$11,000.00 | \$20,515.31 | \$20,515.31 | |
| 42 | 619.1000.S | Mobilization | LS | 1 | \$99,000.00 | \$99,000.00 | \$104,000.00 | \$104,000.00 | \$180,000.00 | \$180,000.00 | \$179,859.00 | \$179,859.00 | |
| 43 | 624.0100 | Water | Mgal | 40 | \$40.00 | \$1,600.00 | \$40.00 | \$1,600.00 | \$10.00 | \$400.00 | \$50.00 | \$2,000.00 | |
| 44 | 624.0200.S | Water For Seeded Areas | Mgal | 50 | \$86.55 | \$4,327.50 | \$50.00 | \$2,500.00 | \$10.00 | \$500.00 | \$100.00 | \$5,000.00 | |
| 45 | 625.0600.S | Topsoil, Seed, Fertilizer and Mulch | Sq Yd | 4030 | \$8.27 | \$33,328.10 | \$8.00 | \$32,240.00 | \$8.00 | \$32,240.00 | \$20.10 | \$81,003.00 | |
| 46 | 628.7005 | Inlet Protection Type A | Ea | 23 | \$104.00 | \$2,392.00 | \$100.00 | \$2,300.00 | \$50.00 | \$1,150.00 | \$125.00 | \$2,875.00 | |
| 47 | 628.7015 | Inlet Protection Type C | Ea | 53 | \$41.50 | \$2,199.50 | \$10.00 | \$530.00 | \$50.00 | \$2,650.00 | \$75.00 | \$3,975.00 | |
| 48 | 628.7560 | Tracking Pad | Ea | 2 | \$1,000.00 | \$2,000.00 | \$600.00 | \$1,200.00 | \$500.00 | \$1,000.00 | \$2,000.00 | \$4,000.00 | |
| 49 | 632.1001.S | Tree Root Barrier 18" | Ln Ft | 1280 | \$13.88 | \$17,766.40 | \$7.00 | \$8,960.00 | \$20.00 | \$25,600.00 | \$12.00 | \$15,360.00 | |
| 50 | 643.0100.S | Temporary Traffic Control | LS | 1 | \$13,500.00 | \$13,500.00 | \$20,000.00 | \$20,000.00 | \$30,000.00 | \$30,000.00 | \$19,782.00 | \$19,782.00 | |
| 51 | 646.1020 | Marking Line Epoxy 4-Inch | Ln Ft | 50 | \$1.55 | \$77.50 | \$17.00 | \$850.00 | \$20.00 | \$1,000.00 | \$1.55 | \$77.50 | |
| 52 | 646.3020 | Marking Line Epoxy 8-Inch | Ln Ft | 25 | \$2.30 | \$57.50 | \$30.00 | \$750.00 | \$30.00 | \$750.00 | \$2.30 | \$57.50 | |
| 53 | 646.5120 | Marking Word Epoxy | Ea | 1 | \$375.00 | \$375.00 | \$480.00 | \$480.00 | \$500.00 | \$500.00 | \$375.00 | \$375.00 | |
| 54 | 646.5220.S | Marking Symbol Epoxy | Ea | 2 | \$280.00 | \$560.00 | \$470.00 | \$940.00 | \$300.00 | \$600.00 | \$280.00 | \$560.00 | |
| 55 | 690.0150 | Sawing Asphalt | Ln Ft | 680 | \$1.90 | \$1,292.00 | \$4.00 | \$2,720.00 | \$3.00 | \$2,040.00 | \$1.45 | \$986.00 | |
| 56 | 690.0250 | Sawing Concrete | Ln Ft | 20 | \$2.40 | \$48.00 | \$8.00 | \$160.00 | \$10.00 | \$200.00 | \$2.40 | \$48.00 | |
| 57 | 800.0108.S | Sanitary Sewer PVC-SDR 35 8" | Ln Ft | 50 | \$100.00 | \$5,000.00 | \$41.00 | \$2,050.00 | \$50.00 | \$2,500.00 | \$78.84 | \$3,942.00 | |
| 58 | 800.0112.S | Sanitary Sewer PVC-SDR 35 12" | Ln Ft | 2300 | \$45.00 | \$103,500.00 | \$82.00 | \$188,600.00 | \$60.00 | \$138,000.00 | \$74.68 | \$171,764.00 | |
| 59 | 800.0118.S | Sanitary Sewer PVC-SDR 35 18" | Ln Ft | 10 | \$100.00 | \$1,000.00 | \$230.00 | \$2,300.00 | \$200.00 | \$2,000.00 | \$78.84 | \$788.40 | |
| 60 | 800.0124.S | Sanitary Sewer PVC-SDR 35 24" | Ln Ft | 20 | \$100.00 | \$2,000.00 | \$230.00 | \$4,600.00 | \$300.00 | \$6,000.00 | \$78.84 | \$1,576.80 | |
| 61 | 800.0200.S | Sanitary Sewer Wyes PVC | Ea | 66 | \$100.00 | \$6,600.00 | \$180.00 | \$11,880.00 | \$150.00 | \$9,900.00 | \$100.00 | \$6,600.00 | |
| 62 | 801.0104.S | Sanitary Sewer Manholes 4' Diameter | Ea | 7 | \$4,500.00 | \$31,500.00 | \$4,975.00 | \$34,825.00 | \$4,000.00 | \$28,000.00 | \$4,805.66 | \$33,639.62 | |
| 63 | | Construct Outside Drop | Ea | 2 | \$3,200.00 | \$6,400.00 | \$2,800.00 | \$5,600.00 | \$5,000.00 | \$10,000.00 | \$2,490.98 | \$4,981.96 | |
| 64 | 802.0100.S | Connect Sanitary Sewer Lateral | Ln Ft | 2100 | \$52.50 | \$110,250.00 | \$53.00 | \$111,300.00 | \$40.00 | \$84,000.00 | \$60.85 | \$127,785.00 | |
| 65 | 900.0106.S | 6" DI Watermain | Ln Ft | 90 | \$100.00 | \$9,000.00 | \$45.00 | \$4,050.00 | \$40.00 | \$3,600.00 | \$53.34 | \$4,800.60 | |
| 66 | 900.0108.S | 8" DI Watermain | Ln Ft | 2500 | \$35.00 | \$87,500.00 | \$40.00 | \$100,000.00 | \$50.00 | \$125,000.00 | \$34.06 | \$85,150.00 | |
| 67 | 900.0114.S | 14" DI Watermain | Ln Ft | 50 | \$100.00 | \$5,000.00 | \$110.00 | \$5,500.00 | \$100.00 | \$5,000.00 | \$79.00 | \$3,950.00 | |
| 68 | 901.0806.S | 8"x8"x6" Tee | Ea | 4 | \$200.00 | \$800.00 | \$216.00 | \$864.00 | \$300.00 | \$1,200.00 | \$300.00 | \$1,200.00 | |
| 69 | 901.0808.S | 8"x8"x8" Tee | Ea | 2 | \$200.00 | \$400.00 | \$258.00 | \$516.00 | \$300.00 | \$600.00 | \$300.00 | \$600.00 | |
| 70 | 902.0808.S | 8"x8" Cross | Ea | 2 | \$400.00 | \$800.00 | \$315.00 | \$630.00 | \$300.00 | \$600.00 | \$400.00 | \$800.00 | |
| 71 | 902.1414.S | 14"x14" Cross | Ea | 1 | \$1,000.00 | \$1,000.00 | \$897.00 | \$897.00 | \$500.00 | \$500.00 | \$500.00 | \$500.00 | |
| 72 | 903.0645.S | 6" - 45 Degree Bend | Ea | 10 | \$200.00 | \$2,000.00 | \$96.00 | \$960.00 | \$200.00 | \$2,000.00 | \$150.00 | \$1,500.00 | |
| 73 | 903.0845.S | 8" - 45 Degree Bend | Ea | 9 | \$200.00 | \$1,800.00 | \$138.00 | \$1,242.00 | \$300.00 | \$2,700.00 | \$150.00 | \$1,350.00 | |
| 74 | | 8"x3" Reducer | Ea | 1 | \$100.00 | \$100.00 | \$96.00 | \$96.00 | \$300.00 | \$300.00 | \$150.00 | \$150.00 | |
| | | 8"x6" Reducer | Ea | 5 | \$100.00 | \$500.00 | \$108.00 | \$540.00 | \$300.00 | \$1,500.00 | \$150.00 | \$750.00 | |
| 76 | 904.1408.S | 14"x8" Reducer | Ea | 2 | \$100.00 | \$200.00 | \$300.00 | \$600.00 | \$600.00 | \$1,200.00 | \$200.00 | \$400.00 | |
| | | 6" Valve & Valve Box | Ea | 4 | \$450.00 | \$1,800.00 | \$300.00 | \$1,200.00 | \$1,000.00 | \$4,000.00 | \$500.00 | \$2,000.00 | |
| | | 8" Valve & Valve Box | Ea | 15 | \$500.00 | \$7,500.00 | \$350.00 | \$5,250.00 | \$1,000.00 | \$15,000.00 | \$750.00 | \$11,250.00 | |
| | | 14" Valve and Valve Box | Ea | 2 | \$750.00 | \$1,500.00 | \$500.00 | \$1,000.00 | \$1,000.00 | \$2,000.00 | \$1,500.00 | \$3,000.00 | |
| | | Standard Hydrant | Ea | 4 | \$600.00 | \$2,400.00 | \$800.00 | \$3,200.00 | \$1,000.00 | \$4,000.00 | \$1,500.00 | \$6,000.00 | |
| | | Temporary Water Service | LS | 1 | \$33,000.00 | \$33,000.00 | \$16,500.00 | \$16,500.00 | \$35,000.00 | \$35,000.00 | \$31,500.00 | \$31,500.00 | |
| | | Connect Water Service | Ln Ft | 2100 | \$36.00 | \$75,600.00 | \$45.00 | \$94,500.00 | \$40.00 | \$84,000.00 | \$30.80 | \$64,680.00 | |
| | | | | rt I Total: | , | \$1,574,219.85 | , 5.55 | \$1,879,116.40 | , 515 | \$1,836,426.00 | , | \$1,955,749.28 | |
| Part II - 4th Street from McClellan Street to Scott Street | | | | | | | | | | | | | |
| 83 | 201.0120.S | Clearing | id | 33 | \$14.00 | \$462.00 | \$15.00 | \$495.00 | \$20.00 | \$660.00 | \$38.06 | \$1,255.98 | |
| | | Grubbing | id | 33 | \$20.00 | \$660.00 | \$25.00 | \$825.00 | \$20.00 | \$660.00 | \$66.51 | \$2,194.83 | |

| | | | | | Haas S | ons, Inc. | A-1 Exca | vating Inc. | Switlick & Sons Inc. | | James Peterson Sons, Inc Utility Division | |
|-----|------------|---|-------|------|-------------|-------------|-------------|-------------|----------------------|--------------|--|-------------|
| | Item Code | Item Description | UofM | Qty | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
| 85 | 204.0100 | Removing Concrete Pavement | Sq Yd | 1643 | \$4.00 | \$6,572.00 | \$7.50 | \$12,322.50 | \$20.00 | \$32,860.00 | \$5.37 | \$8,822.91 |
| 86 | 204.0150 | Removing Curb & Gutter | Ln Ft | 150 | \$2.00 | \$300.00 | \$6.00 | \$900.00 | \$2.00 | \$300.00 | \$1.00 | \$150.00 |
| 87 | 204.0155.S | Removing Concrete Sidewalk | Sq Yd | 710 | \$5.50 | \$3,905.00 | \$7.50 | \$5,325.00 | \$7.00 | \$4,970.00 | \$4.00 | \$2,840.00 |
| 88 | 204.0195 | Removing Concrete Bases | Ea | 4 | \$250.00 | \$1,000.00 | \$400.00 | \$1,600.00 | \$300.00 | \$1,200.00 | \$250.00 | \$1,000.00 |
| 89 | 204.0210.S | Removing Manholes | Ea | 6 | \$300.00 | \$1,800.00 | \$500.00 | \$3,000.00 | \$300.00 | \$1,800.00 | \$500.00 | \$3,000.00 |
| 90 | 204.0220 | Removing Inlets | Ea | 7 | \$300.00 | \$2,100.00 | \$400.00 | \$2,800.00 | \$300.00 | \$2,100.00 | \$400.00 | \$2,800.00 |
| 91 | 204.0245.S | Removing Storm Sewer | Ln Ft | 540 | \$20.00 | \$10,800.00 | \$20.00 | \$10,800.00 | \$10.00 | \$5,400.00 | \$5.00 | \$2,700.00 |
| 92 | 204.0500.S | Removing Sanitary Sewer | Ln Ft | 345 | \$1.00 | \$345.00 | \$7.00 | \$2,415.00 | \$10.00 | \$3,450.00 | \$2.00 | \$690.00 |
| 93 | 205.0100 | Excavation Common | Cu Yd | 558 | \$15.00 | \$8,370.00 | \$15.00 | \$8,370.00 | \$15.00 | \$8,370.00 | \$27.39 | \$15,283.62 |
| 94 | 205.1500.S | Excavation Below Subgrade | Cu Yd | 250 | \$15.00 | \$3,750.00 | \$10.00 | \$2,500.00 | \$28.00 | \$7,000.00 | \$20.24 | \$5,060.00 |
| 95 | 209.0100.S | Granular Backfill | Cu Yd | 50 | \$30.00 | \$1,500.00 | \$20.00 | \$1,000.00 | \$20.00 | \$1,000.00 | \$18.96 | \$948.00 |
| 96 | 305.0125.S | Base Aggregate Dense 1 1/4" | Cu Yd | 594 | \$21.16 | \$12,569.04 | \$34.00 | \$20,196.00 | \$26.00 | \$15,444.00 | \$40.58 | \$24,104.52 |
| 97 | 311.0200.S | Breaker Run with Fines | Cu Yd | 200 | \$24.70 | \$4,940.00 | \$34.00 | \$6,800.00 | \$26.00 | \$5,200.00 | \$32.93 | \$6,586.00 |
| 98 | 415.0080 | Concrete Pavement 8-inch | SY | 85 | \$80.00 | \$6,800.00 | \$122.00 | \$10,370.00 | \$80.00 | \$6,800.00 | \$116.28 | \$9,883.80 |
| 99 | 416.0610 | Drilled Tie Bars | Ea | 30 | \$12.00 | \$360.00 | \$16.00 | \$480.00 | \$12.00 | \$360.00 | \$14.93 | \$447.90 |
| 100 | 416.0620 | Drilled Dowel Bars | Ea | 4 | \$20.00 | \$80.00 | \$22.00 | \$88.00 | \$20.00 | \$80.00 | \$20.46 | \$81.84 |
| 101 | 455.0605 | Tack Coat | Gal | 66 | \$5.05 | \$333.30 | \$4.20 | \$277.20 | \$7.00 | \$462.00 | \$4.04 | \$266.64 |
| 102 | 460.6223.S | HMA Pavement 3 MT 58-28 S | Ton | 235 | \$79.79 | \$18,750.65 | \$96.00 | \$22,560.00 | \$94.00 | \$22,090.00 | \$91.97 | \$21,612.95 |
| 103 | 460.6224.S | HMA Pavement 4 MT 58-28 S | Ton | 180 | \$79.79 | \$14,362.20 | \$89.00 | \$16,020.00 | \$88.50 | \$15,930.00 | \$86.21 | \$15,517.80 |
| 104 | 465.0120 | Asphaltic Surface Driveways | Ton | 10 | \$151.50 | \$1,515.00 | \$199.00 | \$1,990.00 | \$194.00 | \$1,940.00 | \$192.59 | \$1,925.90 |
| 105 | 520.8000 | Concrete Collars for Pipe | Ea | 3 | \$600.00 | \$1,800.00 | \$1,000.00 | \$3,000.00 | \$500.00 | \$1,500.00 | \$731.00 | \$2,193.00 |
| 106 | 601.0409 | Concrete Curb & Gutter 30" Type A | Ln Ft | 50 | \$19.00 | \$950.00 | \$16.00 | \$800.00 | \$20.00 | \$1,000.00 | \$14.66 | \$733.00 |
| 107 | 601.0411 | Concrete Curb & Gutter 30" Type D | Ln Ft | 680 | \$18.00 | \$12,240.00 | \$16.00 | \$10,880.00 | \$20.00 | \$13,600.00 | \$14.66 | \$9,968.80 |
| 108 | 602.0405.S | Concrete Sidewalk 4" | Sq Ft | 50 | \$6.00 | \$300.00 | \$7.00 | \$350.00 | \$6.00 | \$300.00 | \$5.41 | \$270.50 |
| 109 | 602.0415.S | Concrete Sidewalk 6" | Sq Ft | 6100 | \$5.75 | \$35,075.00 | \$7.00 | \$42,700.00 | \$6.00 | \$36,600.00 | \$6.36 | \$38,796.00 |
| 110 | 602.0515 | Curb Ramp Detectable Warning Field Natural Patina | Sq Ft | 135 | \$40.00 | \$5,400.00 | \$58.00 | \$7,830.00 | \$40.00 | \$5,400.00 | \$55.00 | \$7,425.00 |
| 111 | 608.0412 | Storm Sewer Pipe Reinforced Concrete Class IV 12" | Ln Ft | 260 | \$49.75 | \$12,935.00 | \$67.00 | \$17,420.00 | \$50.00 | \$13,000.00 | \$73.27 | \$19,050.20 |
| 112 | 608.0415 | Storm Sewer Pipe Reinforced Concrete Class IV 15" | Ln Ft | 150 | \$53.75 | \$8,062.50 | \$68.00 | \$10,200.00 | \$55.00 | \$8,250.00 | \$56.97 | \$8,545.50 |
| 113 | 608.0418 | Storm Sewer Pipe Reinforced Concrete Class IV 18" | Ln Ft | 180 | \$60.25 | \$10,845.00 | \$77.00 | \$13,860.00 | \$60.00 | \$10,800.00 | \$63.73 | \$11,471.40 |
| 114 | 608.0442 | Storm Sewer Pipe Reinforced Concrete Class IV 42" | Ln Ft | 20 | \$225.00 | \$4,500.00 | \$238.00 | \$4,760.00 | \$180.00 | \$3,600.00 | \$204.38 | \$4,087.60 |
| 115 | 608.6010.S | Storm Sewer Pipe Composite 10" | Ln Ft | 5 | \$70.00 | \$350.00 | \$135.00 | \$675.00 | \$100.00 | \$500.00 | \$104.05 | \$520.25 |
| 116 | 611.0700.S | Inlet Cover Neenah R-3290-A Type C | Ea | 1 | \$1,450.00 | \$1,450.00 | \$1,150.00 | \$1,150.00 | \$900.00 | \$900.00 | \$1,461.60 | \$1,461.60 |
| 117 | 611.0535.S | Manhole Covers Type J-Special (Storm & Sanitary) | Ea | 4 | \$900.00 | \$3,600.00 | \$905.00 | \$3,620.00 | \$800.00 | \$3,200.00 | \$1,076.15 | \$4,304.60 |
| 118 | 611.0624 | Inlet Covers Type H | Ea | 6 | \$1,150.00 | \$6,900.00 | \$940.00 | \$5,640.00 | \$800.00 | \$4,800.00 | \$1,099.73 | \$6,598.38 |
| 119 | 611.1230 | Catch Basin 2x3-Ft | Ea | 7 | \$1,750.00 | \$12,250.00 | \$2,050.00 | \$14,350.00 | \$2,300.00 | \$16,100.00 | \$1,556.84 | \$10,897.88 |
| 120 | 611.2004 | Manholes 4-Ft Diameter | Ea | 1 | \$2,800.00 | \$2,800.00 | \$2,975.00 | \$2,975.00 | \$2,800.00 | \$2,800.00 | \$2,278.68 | \$2,278.68 |
| 121 | 611.2005 | Manholes 5-Ft Diameter | Ea | 1 | \$4,100.00 | \$4,100.00 | \$4,550.00 | \$4,550.00 | \$3,500.00 | \$3,500.00 | \$3,467.76 | \$3,467.76 |
| 122 | 611.2006 | Manholes 6-Ft Diameter | Ea | 1 | \$7,300.00 | \$7,300.00 | \$11,800.00 | \$11,800.00 | \$6,000.00 | \$6,000.00 | \$8,341.98 | \$8,341.98 |
| 123 | 619.1000.S | Mobilization | LS | 1 | \$13,000.00 | \$13,000.00 | \$18,000.00 | \$18,000.00 | \$100,000.00 | \$100,000.00 | \$56,363.00 | \$56,363.00 |
| 124 | 624.0100 | Water | Mgal | 5 | \$50.00 | \$250.00 | \$60.00 | \$300.00 | \$10.00 | \$50.00 | \$100.00 | \$500.00 |
| 125 | 624.0200.S | Water For Seeded Areas | Mgal | 10 | \$86.55 | \$865.50 | \$80.00 | \$800.00 | \$10.00 | \$100.00 | \$100.00 | \$1,000.00 |
| 126 | 625.0700.S | Topsoil, Seed, Fertilizer and Mulch | Sq Yd | 225 | \$7.80 | \$1,755.00 | \$14.00 | \$3,150.00 | \$15.00 | \$3,375.00 | \$23.17 | \$5,213.25 |
| 127 | 628.7005 | Inlet Protection Type A | Ea | 7 | \$104.00 | \$728.00 | \$100.00 | \$700.00 | \$50.00 | \$350.00 | \$125.00 | \$875.00 |
| 128 | 628.7015 | Inlet Protection Type C | Ea | 15 | \$41.50 | \$622.50 | \$10.00 | \$150.00 | \$50.00 | \$750.00 | \$75.00 | \$1,125.00 |
| 129 | 628.7560 | Tracking Pad | Ea | 2 | \$800.00 | \$1,600.00 | \$600.00 | \$1,200.00 | \$500.00 | \$1,000.00 | \$2,000.00 | \$4,000.00 |
| 130 | 643.0100.S | Temporary Traffic Control | LS | 1 | \$1,000.00 | \$1,000.00 | \$4,500.00 | \$4,500.00 | \$5,000.00 | \$5,000.00 | \$1,481.00 | \$1,481.00 |

| | | | | | | | | | James Peterson Sons, Inc | | | |
|-----|------------|--|--------|------------|-----------------|----------------|---------------------|----------------|--------------------------|----------------|------------------|----------------|
| | | | | | Haas Sons, Inc. | | A-1 Excavating Inc. | | Switlick & Sons Inc. | | Utility Division | |
| | Item Code | Item Description | UofM | Qty | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
| 131 | 646.6020 | Marking Stop Line Epoxy 12-Inch | Ln Ft | 17 | \$12.60 | \$214.20 | \$16.00 | \$272.00 | \$13.00 | \$221.00 | \$12.60 | \$214.20 |
| 132 | 646.7420 | Marking Crosswalk Epoxy Transverse Line 6-Inch | Ln Ft | 300 | \$9.75 | \$2,925.00 | \$14.00 | \$4,200.00 | \$10.00 | \$3,000.00 | \$9.75 | \$2,925.00 |
| 133 | 646.7520 | Marking Crosswalk Epoxy Ladder Pattern 24" | Ln Ft | 72 | \$18.50 | \$1,332.00 | \$18.00 | \$1,296.00 | \$20.00 | \$1,440.00 | \$18.50 | \$1,332.00 |
| 134 | 646.8420 | Marking Parking Stall Epoxy 6-inch | LF | 420 | \$9.75 | \$4,095.00 | \$7.00 | \$2,940.00 | \$10.00 | \$4,200.00 | \$9.75 | \$4,095.00 |
| 135 | 652.0215 | Conduit Nonmetallic Schedule 40 1 1/4" | Ln Ft | 340 | \$13.81 | \$4,695.40 | \$15.00 | \$5,100.00 | \$17.00 | \$5,780.00 | \$13.81 | \$4,695.40 |
| 136 | 652.0235 | Conduit Nonmetallic Schedule 40 3" | Ln Ft | 140 | \$14.34 | \$2,007.60 | \$16.00 | \$2,240.00 | \$17.50 | \$2,450.00 | \$14.34 | \$2,007.60 |
| 137 | 653.1000.S | Pull Box Corrugated Polyethylene 18x24" | Ea | 1 | \$1,067.00 | \$1,067.00 | \$1,200.00 | \$1,200.00 | \$1,280.00 | \$1,280.00 | \$1,067.00 | \$1,067.00 |
| 138 | 654.0300.S | Light Pole Bases | Ea | 6 | \$995.00 | \$5,970.00 | \$1,100.00 | \$6,600.00 | \$1,194.00 | \$7,164.00 | \$995.00 | \$5,970.00 |
| 139 | 690.0150 | Sawing Asphalt | Ln Ft | 200 | \$2.45 | \$490.00 | \$4.00 | \$800.00 | \$3.00 | \$600.00 | \$1.45 | \$290.00 |
| 140 | 690.0250 | Sawing Concrete | Ln Ft | 110 | \$3.40 | \$374.00 | \$8.00 | \$880.00 | \$10.00 | \$1,100.00 | \$2.40 | \$264.00 |
| 141 | 800.0108.S | Sanitary Sewer PVC-SDR 35 8" | Ln Ft | 310 | \$40.00 | \$12,400.00 | \$63.00 | \$19,530.00 | \$40.00 | \$12,400.00 | \$53.18 | \$16,485.80 |
| 142 | 800.0121.S | Sanitary Sewer PVC-SDR 35 21" | Ln Ft | 60 | \$100.00 | \$6,000.00 | \$103.00 | \$6,180.00 | \$200.00 | \$12,000.00 | \$78.84 | \$4,730.40 |
| 143 | 800.0200.S | Sanitary Sewer Wyes PVC | Ea | 4 | \$100.00 | \$400.00 | \$180.00 | \$720.00 | \$150.00 | \$600.00 | \$100.00 | \$400.00 |
| 144 | 801.0104.S | Sanitary Sewer Manholes 4' Diameter | Ea | 1 | \$4,800.00 | \$4,800.00 | \$6,350.00 | \$6,350.00 | \$4,500.00 | \$4,500.00 | \$5,202.57 | \$5,202.57 |
| 145 | 802.0100.S | Connect Sanitary Sewer Lateral | Ln Ft | 120 | \$55.00 | \$6,600.00 | \$103.00 | \$12,360.00 | \$40.00 | \$4,800.00 | \$86.84 | \$10,420.80 |
| | | | Part | II Total: | | \$305,322.89 | | \$387,161.70 | | \$442,086.00 | | \$398,241.84 |
| | | | | | Part III - | Alternates | | | | | | |
| 146 | 601.0409 | Concrete Curb and Gutter 30" Type A | Ln Ft | 590 | \$19.00 | \$11,210.00 | \$16.00 | \$9,440.00 | \$20.00 | \$11,800.00 | \$14.66 | \$8,649.40 |
| 147 | 415.0070 | Concrete Pavement 7-inch | SY | 1380 | \$65.25 | \$90,045.00 | \$66.00 | \$91,080.00 | \$68.00 | \$93,840.00 | \$62.37 | \$86,070.60 |
| 148 | 416.0620 | Drilled Dowel Bars | Ea | 12 | \$20.00 | \$240.00 | \$22.00 | \$264.00 | \$20.00 | \$240.00 | \$20.46 | \$245.52 |
| 149 | 460.6223.S | HMA Pavement 3 MT 58-28 S | Ton | 40 | \$79.79 | \$3,191.60 | \$106.50 | \$4,260.00 | \$106.00 | \$4,240.00 | \$103.43 | \$4,137.20 |
| 150 | 460.6224.S | HMA Pavement 4 MT 58-28 S | Ton | 30 | \$79.79 | \$2,393.70 | \$120.00 | \$3,600.00 | \$118.50 | \$3,555.00 | \$116.36 | \$3,490.80 |
| | | | Part | III Total: | | \$107,080.30 | | \$108,644.00 | | \$113,675.00 | | \$102,593.52 |
| | | | Base B | id Total: | | \$1,879,542.74 | | \$2,266,278.10 | | \$2,278,512.00 | | \$2,353,991.12 |